



Nom: \_\_\_\_\_

Date: \_\_\_\_\_ Note: \_\_\_\_\_

$$\left(\left(\frac{1}{5}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} + \left(\frac{1}{3} + \frac{1}{5}\right)^2 =$$

$$\left(\frac{3}{5} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{6} - \left(\frac{3}{4} - \frac{1}{5}\right)^2 =$$

$$\left(\frac{2}{5} - \frac{1}{4}\right)^2 + \frac{3}{4}\left(\frac{3}{5} + \left(\frac{3}{5}\right)^2\right) =$$

$$\left(3 - \frac{1}{5}\right)^2 + \frac{1}{2} - 3^2 + \frac{1}{3} =$$

$$\left(\frac{3}{2} + \frac{2}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{2} + \left(\frac{3}{5}\right)^2\right) =$$

$$\left(\frac{1}{6} + \left(\frac{2}{3}\right)^2\right) \times \frac{1}{6} + \left(\frac{2}{5} + \frac{1}{2}\right)^2 =$$

$$\left(5 - \frac{2}{5}\right)^2 + \frac{2}{5} \times \frac{1}{4} \times 3^2 =$$

$$\left(\left(\frac{1}{4}\right)^2 - \frac{1}{6}\right) \times \frac{1}{3} - \left(\frac{3}{5} + \frac{1}{3}\right)^2 =$$

$$\left(3 - \frac{3}{4}\right)^2 + \frac{3}{5} - \frac{3}{4} - 4^2 =$$

$$\left(\frac{1}{3} + \frac{3}{4}\right)^2 - \frac{1}{2}\left(\frac{2}{5} + \frac{1}{5}\right) =$$



Nom: \_\_\_\_\_

Date: \_\_\_\_\_ Note: \_\_\_\_\_

$$\left(\left(\frac{1}{5}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} + \left(\frac{1}{3} + \frac{1}{5}\right)^2 = \frac{106}{225}$$

$$\left(\frac{3}{5} + \left(\frac{1}{5}\right)^2\right) \times \frac{1}{6} - \left(\frac{3}{4} - \frac{1}{5}\right)^2 = \left(-\frac{47}{240}\right)$$

$$\left(\frac{2}{5} - \frac{1}{4}\right)^2 + \frac{3}{4}\left(\frac{3}{5} + \left(\frac{3}{5}\right)^2\right) = \frac{297}{400}$$

$$\left(3 - \frac{1}{5}\right)^2 + \frac{1}{2} - 3^2 + \frac{1}{3} = \left(-\frac{49}{150}\right)$$

$$\left(\frac{3}{2} + \frac{2}{5}\right)^2 + \frac{1}{3}\left(\frac{1}{2} + \left(\frac{3}{5}\right)^2\right) = \frac{1169}{300} = 3\frac{269}{300}$$

$$\left(\frac{1}{6} + \left(\frac{2}{3}\right)^2\right) \times \frac{1}{6} + \left(\frac{2}{5} + \frac{1}{2}\right)^2 = \frac{1231}{1350}$$

$$\left(5 - \frac{2}{5}\right)^2 + \frac{2}{5} \times \frac{1}{4} \times 3^2 = \frac{1103}{50} = 22\frac{3}{50}$$

$$\left(\left(\frac{1}{4}\right)^2 - \frac{1}{6}\right) \times \frac{1}{3} - \left(\frac{3}{5} + \frac{1}{3}\right)^2 = \left(-\frac{1087}{1200}\right)$$

$$\left(3 - \frac{3}{4}\right)^2 + \frac{3}{5} - \frac{3}{4} - 4^2 = \left(-\frac{887}{80}\right) = \left(-11\frac{7}{80}\right)$$

$$\left(\frac{1}{3} + \frac{3}{4}\right)^2 - \frac{1}{2}\left(\frac{2}{5} + \frac{1}{5}\right) = \frac{629}{720}$$